IALT:  I can solve subtraction word problems

(Yellow group - 3 digits, columns, one step)
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1. There were 165 cups in a shop.  
37 fell when a shelf broke.  
How many cups were unbroken?
2. Harry had £257 in his bank account. 
His mum let him spend £129 on a new bike.  
How much was left in his account?
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Sue collected 412 tokens.  
She swapped 159 of them for a giant teddy bear.  
How many tokens did she have left?

4. Bill's story was 561 words long.  
Ben's story was 395 words long.  
How many more words did Bill write than Ben?
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There are 615 pages in my book.  I have read 293.   
How many more pages do I need to read? 
IALT:  I can solve subtraction word problems

(Blue group - 3-4 digits, columns, one step)
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1.  There were 1165 cups delivered to a shop. Half of them were pink.  The other half were blue.  237 were broken when they arrived.  How many cups were unbroken?

2.  Harry had £2207 in his bank account. He had been saving it for 14 years using his birthday money.  His mum let him spend £1329 on a special mountain bike.  That he could use in 112mile race.  How much was left in his account?
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3.  Sue collected 4212 tokens when she spent over £50 on her shopping.  She swapped 1675 of them for a day at a theme park which was 112 miles from her house.  How many tokens did she have left? 

4.  Bill's story was about Dinosaurs and it was 1561 words long.  Ben's story was about pirates and it was only 1395 words long.  How many more words did Bill write than Ben?
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5.  There are 2615 pages in my book. It is the seventh book in a series.  I have read 1293.   How many more pages do I need to read before I can move onto the eighth book? 

